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$$ M=\begin{bmatrix} e(a_1,b_1)&e(a_1,b _2)&\cdots&e(a_1,b_n)\\
e(a_2,b_1)&e(a_2,b_2)&\cdots&e(a_2,b_n)\\ \vdots&\vdots&\ddots&\vdots\\

e(a_n,b 1)&e(a_n,b_2)&\cdots&e(a_n,b_n)\\ \end{bmatrix} $$

g

$$ \det M=\sum_{c\in S(a,b)}(-1)"~{N(c)}w(c) $3$
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$$ \det M=\sum_{c\in S(a,b)}1 $$
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1. 0 %i$ 000 $(1,a_i\to (n,b_)$
2. 00000000 $(xyN\to (x,y+1),(x+1,y)$

00 $e(i,j)={n-1+b_j-a_i\choose n-1}$J0 000 00O00OOCOOO

const int mod=1e9+7,MAXN=2e5+5, MAXK= ;
int quick pow(int n,int k
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int ans=1;
k
k&1)ans=1LL*ans*n%mod;
n=1LL*n*n%mod;
k>>=1;

ans;

int frac/MAXN!,invf[MAXN];
int C(int n,int m
n<m ;
1LL*frac[n]*invf[m]%mod*invf[n-ml%mod;

int a/MAXN],b[MAXN];
int c[MAXK] [MAXK];
int cal(int n

int ans=1;
_rep(i,1,n
int pos=0;
_rep(j,i,n
c[jl[i
pos=j;
;
I'pos E
pos!=1i
_rep(j,i,n

swap(clil[jl,clposl[jl);

ans=1LL*ans*c[i][1i]%mod;
int t=quick pow(clil[il,mod-2);
_rep(j,i,n
clil[jl=1LL*cli][]|*t%smod;
_rep(j,i+l,n
int k=n;k>=1i;k--
cljliki=(cljlIkl-1LL*c[jl[il*cl[i][k])%mod;

ans+mod )%mod;

void solve
int n=read _int(),k=read int();
_rep(i,l,k)alil=read int();
_rep(i,1,k)blil=read int();
_rep(i,1,k) rep(j,1,k
clilljl=C(n-1+bljl-alil,n-1);
enter(cal(k));

int main
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frac[0]=1;
_for(i,1,MAXN
frac/il=1LL*frac/i-1]*i%mod;

invf[MAXN-1!=quick pow(frac|MAXN-

int i=MAXN-1;i;i--

invf[i-1]=1LL*invf[i]*i%mod;
int T=read _int();

T--
solvel();
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,mod-2);
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